Praktikum 4

(Struktogramme)
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A3


str1


¬


Sortieren(str, sortstr);


sortstr ->




A3

str1

Sortieren(str, sortstr);

sortstr ->
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Sortieren


anz = IndexInitialisieren(str, index);


AllesKlein(str, kstr);


c=0;


c<anz


i=0;


i<anz


v = Vergleiche(kstr, index[c].anf, index[c].end, index[i].anf, index[i].end);


v==2


ja


nein


a=index[c].anf;


e=index[c].end;


index[c].anf = index[i].anf;


index[c].end = index[i].end;


index[i].anf = a;


index[i].end = e;


 


i++;


c++;


StringBilden(index, str, sortstr, anz);




Sortieren

anz = IndexInitialisieren(str, index);

AllesKlein(str, kstr);

c=0;

c<anz

i=0;

i<anz

v = Vergleiche(kstr, index[c].anf, index[c].end, index[i].anf, index[i].end);

v==2

ja nein

a=index[c].anf;

e=index[c].end;

index[c].anf = index[i].anf;

index[c].end = index[i].end;

index[i].anf = a;

index[i].end = e;

 

i++;

c++;

StringBilden(index, str, sortstr, anz);
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IndexInitialisieren


i=0;


s=0;


b<2


index[i].anf=s;


b=0;


b<1


str[s]==' '


ja


nein


b=1;


 


str[s]=='\n'


ja


nein


b=2;


 


s++;


s--;


s--;


index[i].end = s;


i++;


s=s+2;


return i;




IndexInitialisieren

i=0;

s=0;

b<2

index[i].anf=s;

b=0;

b<1

str[s]==' '

ja nein

b=1;  

str[s]=='\n'

ja nein

b=2;  

s++;

s--;

s--;

index[i].end = s;

i++;

s=s+2;

return i;
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AllesKlein


i=0;


str[i] != '\0'


(str[i] >= 'A') && (str[i] <= 'Z')


ja


nein


kstr[i] = str[i] + ('a' - 'A');


kstr[i] = str[i];


i++;


kstr[i] = '\0';




AllesKlein

i=0;

str[i] != '\0'

(str[i] >= 'A') && (str[i] <= 'Z')

ja nein

kstr[i] = str[i] + ('a' - 'A'); kstr[i] = str[i];

i++;

kstr[i] = '\0';
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Vergleiche


v==3


a1>e1


ja


nein


v=0;


 


a2>e2


ja


nein


v=2;


 


e1==e2


ja


nein


a1>e1


ja


nein


v=1;


 


 


kstr[a1] != kstr[a2]


ja


nein


kstr[a1] > kstr[a2]


ja


nein


v=2;


v=0;


  


a1++;


a2++;


return v;




Vergleiche

v==3

a1>e1

ja nein

v=0;  

a2>e2

ja nein

v=2;  

e1==e2

ja nein

a1>e1

ja nein

v=1;  

 

kstr[a1] != kstr[a2]

ja nein

kstr[a1] > kstr[a2]

ja nein

v=2; v=0;

  

a1++;

a2++;

return v;
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StringBilden


i=anz-1;


s=0;


sortstr[0] = '\0'


i>=0


a=index[i].anf;


e=index[i].end;


a<=e


sortstr[s] = str[a];


a++;


s++;


sortstr[s]=' ';


a++;


i++;


sortstr[s] = '\0'




StringBilden

i=anz-1;

s=0;

sortstr[0] = '\0'

i>=0

a=index[i].anf;

e=index[i].end;

a<=e

sortstr[s] = str[a];

a++;

s++;

sortstr[s]=' ';

a++;

i++;

sortstr[s] = '\0'
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main


c != '0'


Menü ausgeben


fflush(stdin);


c


¬


switch(c)


'1'


 '2'


'3'


A1();


A2();


A3();




main

c != '0'

Menü ausgeben

fflush(stdin);

c

switch(c)

'1'  '2' '3'

A1(); A2(); A3();
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A1


str1


¬


str2


¬


SucheString(str1, str2, str3);


str3->




A1

str1

str2

SucheString(str1, str2, str3);

str3->
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SucheString


i=1;


str2[i] != '\0'


i++;


i--;


a=0;


d=3;


d > 1


str1[a] == str2[0]


ja


nein


c=a;


d=3;


b=0;


d > 2


b >= i


ja


nein


d=0;


str1[c] != str2[b]


ja


nein


d=2;


 


c++;


b++;


a++;


str1[a] == '\0'


ja


nein


d=1;


 


 


d == 0


ja


nein


b=0;


a--;


str3[0] = '\0';


str1[a] != '\0'


str3[b] = str[a];


b++;


a++;


str3[b]='\0';


str3[0]='\0';




SucheString

i=1;

str2[i] != '\0'

i++;

i--;

a=0;

d=3;

d > 1

str1[a] == str2[0]

ja nein

c=a;

d=3;

b=0;

d > 2

b >= i

ja nein

d=0;

str1[c] != str2[b]

ja nein

d=2;  

c++;

b++;

a++;

str1[a] == '\0'

ja nein

d=1;  

 

d == 0

ja nein

b=0;

a--;

str3[0] = '\0';

str1[a] != '\0'

str3[b] = str[a];

b++;

a++;

str3[b]='\0';

str3[0]='\0';
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A2


str1


¬


z = FindeWort(str1, str2);


z->


str2 ->




A2

str1

z = FindeWort(str1, str2);

z->

str2 ->
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FindeWort


i=0;


z=0;


str1[i] != '\0'


str1[i] == ' '


ja


nein


z++;


 


str2[i] = str1[i];


i++;


str2[i] = '\0';


(str[i] == '\0') && (z>0)


ja


nein


z++;


 


return z;




FindeWort

i=0;

z=0;

str1[i] != '\0'

str1[i] == ' '

ja nein

z++;  

str2[i] = str1[i];

i++;

str2[i] = '\0';

(str[i] == '\0') && (z>0)

ja nein

z++;  

return z;


